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In sum, the following steps could be identified:

@> Mindset: SM#/'3+ \#$-"2-$&)&-2,+,+3$4#2/#3$ ,&$ 25 &"2%#.$%#&4'+&,9,(,-
-SSP, +-#3%2-#.$5'%$ 02,+&-%#20#.5,+5-"#$ 7'%Q$";$-"#$ CDS &<&-#0:
"#S(, H#SI<I(#S$' 523/ +F, Be$

H> Joint analysis: $J'+.)/-$]',+-$2+2(<&,&$-'$ 2%%, :#$ 2-$ 2$ &"2%#.$ ) +.#%8&
12)&#8&5%$.%, #%&$2+.$-%,33#%&$$H/'+F,/-e$

c> Collective outcomes:  $1'%0)(2-#$2%$ &"2%#.$5:,&,'+32+.$/'(#/*#3")-/'O#&S ;
8)&-2,++354#2/FeS$
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Relationship between sustaining peace
and the sustainable development goals
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